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ABC and DEF are parallel lines.
BEG is a straight line.
Angle GEF =47°.

Work out the size of the angle marked x.

Give reasons for your answer.

Medhod 2
AC I DE
0e = L PEF

LBRE = 180 — AF= 132
MeArod, 2.
L DEgAF
ACIIDE
e+ LDE B 16D
ve = LED- A= 15D

Diagram NOT
accurately drawn

(3 marks)
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Diagram NOT
accurately drawn

E

/

DE is parallel to FG.

(1) Find the size of the angle marked y°.

...... CA.....0
1)
(i1) Give a reason for your answer.
I C@’VQ@H‘QWQ&'T%M%ILM#L&SM
........................................................................................................................... -
(3 marks)
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S
Diagram NOT
accurately drawn
AQB, CRD and PQRS are straight lines.
AB is parallel to CD.
Angle BOR =113°.
(a) Work out the value of x.
< A

(b) Give reasons for your answer.

3T e b DL B 26 M B D

(4 marks)
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(a) 1)

(b) 1)

Diagram NOT
accurately drawn

Find the value of x.

e 20
@)
Give reasons for your answer.
covvegpondine andles ane Gpe)
Find the value of y.
............ B
2)
Give reasons for your answer.
CLN*&Y{()Y a/t"l‘&“o’r\e«"}e C«/h#,és QA éﬁ},cz.,‘ Gl
shagt e lhes g
(6 marks)
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*5.
Diagram NOT

ey B —r— D,Q-i//? B accurately drawn
/120° =~
i / /_/ ‘bg
."" /‘/
A il s
"‘: E .f'/ ) \‘II v',
i WPt
/ 38° T~
| 55 [x ™~/
D" > -

ABCD is a parallelogram.
Angle ADB = 38°.

Angle BEC =41°.

Angle DAB = 120°.

Calculate the size of angle x.
You must give reasons for your answer.

,LABCD> \@—'C(«l@—(’%g\):_ﬁé' Cpfd')/\\onﬁl( oz, @)
A DBC = %g‘j} C Latfesior cMesrnade Ov“@lo)
L BDC= 22

9 = Al=22- 14 (Emio” Grgle o brorgle s eel/o,nw{
ds A sum of 0ppos e sicle. oF
inteyiov dewo OM@]C 0.

(4 marks)
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*6.

Diagram NOT
accurately drawn

CDEF is a straight line.
AB is parallel to CF.
DE = AE.

Work out the size of the angle marked x.
You must give reasons for your answer.

LDeA=3g (7 ABUCE inderior alesrade sngle are
c@uzzi)
J AR . LDAe - go=8% _ 3 CARED ‘s issocele
> Ae- By

Y = l@ —;Fl: kOC] [ﬁ‘l'm\lﬁl'\f{' (fn,e, (’\05 \@)

(4 marks)
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C Diagram NOT

accurately drawn

ABC and DEFG are parallel.
AEH and BFH are straight lines.
Work out the size of the angle marked x°.

LOF R= £3°

L FPEH =28
x = 53~ 28=295

(3 marks)
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A >€\ p B

53°

AB and CD are parallel lines.

(a) Write down the size of angle x.

e BB °
(1)
(b) Give a reason for your answer.
..................... ppposite. angles ome  @gsral. .
......................................................................................................... i
(c) Write down the size of anglé y. " O
................. -
(d) Give a reason for your answer,
%{@rumdﬂeznﬂe%bme@m .............................
......................................................................................................... e

(Total for question 1 is 4 marks)

The Maths Society

/




a )
2 y N\ .

LIOPN\¢

: \N a:
AB and CD are parallel lines.

An angle of 110° is shown on the diagram.

(a) Write down the letter of one other angle of size 110°

(b) Give a reason for your answer.

‘(5[[0”‘%]27098%&\9?’C@ﬂ’eéyomoq-rijnﬁlajmﬂmwwewbnw ......
slterpate agle are ool )

(Total for question 2 is 3 marks)

AB and CD are parallel lines.

(a) Find the size of angle x

(b) Give a reason for your answer.

......... %T\Nalﬁﬁﬂaﬁe&ng{&sm%mws{?wy&(w
RA% 180

()

(Total for question 3 is 3 marks)
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B

D

ABCD is a parallelogram.
CBE is a straight line.
Angle BAD = 128°
Angle AEB =39°

Find the size of angle BAE.
Give a reason for each stage of your working.

LABE - 128 CABIDC ‘Interior
akdBm,d\B omb\f Qe

&Vmal)
LABAL - (4D -l +34)
= \3). C r-)-a/;&\/\ﬁlﬂ ((L@% L$O)

.......... 8.

(Total for question 4 is 3 marks)
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110°

>

AB and CD are parallel lines.
EFG is an isosceles triangle

Angle AEG = 110°

Find the size of angle FGD.
Give a reason for each stage of your working.

12aEC-1g0 -0 C phraiglt Vine )
= Jo

AE@EDL\LU CCI\,N—[-@/(W QJ{AOW’%X{‘F/ a”‘ﬁlf/)
Leaf - 160 — (Fo+70)= A0 Cdoiongle )

C NGHEF « msoceleg )

L GD = |- Ao=do

(Total for question 5 is 3 marks)
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J
AB and CD are parallel.
Angle HIK = 85°
Angle BFH = 32°
Find the size of angle FEG.
You must show how you got your answer.
JOAFR - pa” Copo)asf“ki Cm%[%)
LCIK - \go-%5:=95 C sbaigl Une)
L FPEoi= w0 -CAas +82)- 5%
e T °
(Total for question 6 is 3 marks)
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A B
c D
AB and CD are parallel.
Find the size of angle x.
Give a reason for each stage of your working.
L@Ep; (@—I;-O:_GO C/%fll‘)ﬂlﬂ)"f} \W\.Z_)
LRER - go  (Trferor allernate argle )
LECG= KD - CA8+ 35 )= 91 Cr(-rpa/r%l@)
ez (0 —Coo+aF=2s Cobagh line)
22 -

(Total for question 7 is 4 marks)
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ABCD is a parallelogram.
Angle DAE = 63°

Angle BCD = 124°
Angle CBD =25°

Calculate the size of angle x.
Give reasons for each stage of your answer.

ABDC = (80 -C12A1A5)= ¥ C(r"rfanﬁle )

G = 5\' C ‘Ih”k'irioz; O—L‘}E‘(naﬁ"e Omﬁle_)
b-2s C ) “ J

e = 25+48% = &5 C"Fa’(@nﬁlc 9)70@67’7%%’)

ST o S

(Total for question 8 is 3 marks)
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Question 1

NOTTO
r° /70° SCALE

The diagram shows a straight line intersecting two parallel lines.

Find the value of p and the value of ¢.

Question 2

Find the value of a.

o= é:r_—’q‘ﬂ: -‘25'
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Question 3

NOTTO
SCALE
A
Triangle ABC is isosceles and AC is parallel to BD.
Find the value of a and the value of 5.
a = Jo
b = Ao 2
Question 4
NOTTO
SCALE
55
55 p°
Find the value of p. (2]

p= 150 - ©5 =125
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Question 5

2x9 NOTTO
SCALE
c =22 D
N
AB is parallel to CD.
Calculate the value of x. [3]

Qo+ 9% +5x = 15D
Ly = O

[p S .').2.5'
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